

In zwei Sprüngen über die zweite Zehnergrenze hinauf

$18 + 6 = 18 + \square + \square = \square$

$17 + 7 = 17 + \square + \square = \square$

$16 + 6 = 16 + \square + \square = \square$

$19 + 7 = 19 + \square + \square = \square$

$19 + 6 = 19 + \square + \square = \square$

$15 + 7 = 15 + \square + \square = \square$

$16 + 8 = 16 + \square + \square = \square$

$15 + 9 = 15 + \square + \square = \square$

$13 + 8 = 13 + \square + \square = \square$

$18 + 9 = 18 + \square + \square = \square$

$19 + 8 = 19 + \square + \square = \square$

$14 + 9 = 14 + \square + \square = \square$

In zwei Sprüngen über die zweite Zehnergrenze zurück

$22 - 6 = 22 - \square - \square = \square$

$23 - 7 = 23 - \square - \square = \square$

$24 - 6 = 24 - \square - \square = \square$

$26 - 7 = 26 - \square - \square = \square$

$21 - 6 = 21 - \square - \square = \square$

$21 - 7 = 21 - \square - \square = \square$

$25 - 8 = 25 - \square - \square = \square$

$24 - 9 = 24 - \square - \square = \square$

$23 - 8 = 23 - \square - \square = \square$

$26 - 9 = 26 - \square - \square = \square$

$27 - 8 = 27 - \square - \square = \square$

$27 - 9 = 27 - \square - \square = \square$